EECS 360 Short Quiz #1
Signal and System Analysis

September 11, 2014 .
P Name: 47({6 y

Open book, open niotes, no calculator. Be neat, writelegibly. For full credit you must show all work and justify each answer.
You may write on the both sides of the paper, and use additional sheets of paper if needed.

1. (25 %) Find the even part, x,(t), and the odd part, x,(t), of the following signals:
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2. (35 %) Consider the trapeziodal-shaped pulse x(¢) below.
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(a) Sketch the output y(¢) of the system y{¢) = x(5t).
(b) Sketch the output y(t) of the system y(t) = x(10¢ - 5).
{c) Sketch the output y(t) of the system y(t) = %x(t).
(d) Determine the total energy of your answer, y(t), in part {c).
Y = x(Ft)
(@) —\
I l/.-— :
- =4 4]
/ = 5 + .
e
@) tj&)—_?{(xo(é-i)_) jH_)z X{ipt-3)= x(m({—,'i)>
C.onpirss b\l ___,j\
v||r _q'r l‘-& & focho— of 10
1o ] Cﬂdﬂ-v by ,%-
)=
o 41
— I t/ T
5 —g I - &
0 )
eneeyy = L eneqy =



3. (40 %) The systems below have excitation x(t) or x[r] and response y(t) or y[
whether it is (i) linear, (i) time invariant, (iif) causal, and (iv) stable.
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) y(t) =x(t- 3)+zf x(r)dr
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[72]. For each system, determine
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